&) EKEEEASE (R3~R7) Y

(FEsRiR 3R] €5 Ta= /N 2iii)
) [ #ith - &)1 EIRET b=t
HE A N e = P *  [HARTOBEESSHEENT - &) EIRSTE | DIEE
IﬁEF I*.I/50)%«77*73‘5Kb?’s%gﬁaid\néﬂ(@%@&ug ® : [HMHDAILERSEER (R2~R6) |OKPIiSE =
(BXAHE) (EpAsm) (EAHER)
" I L. | BEE | EEE EEE | XEE  EEE BEBE
J=2Ey X = SiE v
®%b¢§§§lﬁ SRBIEORE &S =t WL o R3IEE RAGEE RSEE | ROERE | RIEE
IREEI IO 1 oA-TKEmOLER | 1300 269 141.4
B RO | x# (D U

I e 4,547 @ 3,748 4,600
5 ’JI;I/J 1 MEOOERE A

ETEKEYIORATRIR - ez Hs~R2TE D

HAEE | XiRE | XEE REE  XREE BB
R2EFE | R3FE  RAFE  RSFE | R6FE R7FE

1t — —— " 658 181 686
3 FI)\IREEEERER TR

BRI - ReR (R5t) Hos~R2ZE A

Qithofties SR DHEE &= f5i= B

N SEDIETBIS ORI 0 1
T (REH) R2 A

. _ . [ L. | BEE | EEE EEE | XiEE  EEE BEE
o o SRR — S5Z 1258 = BiE

©L =L TN ZARE=——XRLEATNGAHTO &S & WAL po  R3EE | RATE | RS | ROEE | R7EE

SHEHLK BR 1 AEhENSE 30,895  FA%E 31,000

(&fE-MNIm) BA M
BRI R EIRFEE —| ® 2% H28~R2TF4]

EROBME~RBEOSMXSEC
A
>
m

6 KEIISNILEREE 2 1
e - S
BT NP LB READEROITHE || xS (RED HosvrZE B
(BAXAE) (BRAmE) (B ptEsR)
_ . L | BEE | EXiEE  EEE O EEE | EZEE  BEE
=, -i in = {=3 ;,i—i{
O sskriBsifas KEREZASN - &S ok B | o R3EE  RAGE RSEE  REEE  RIEE

EEDERK

FAUBERIEER 149 35 165

(5 H28~R2%5t A

S P ERDHES

B
[HE
it
&l
3

BT EERESR0E 78 10
Bk (R3t) H28~R28R5t B

(o3} ® * N
| >

BAEE | RiEE FEE FEE  XREE BFRME

1) pes 9 124 125 129

SR &R ETE ha
* R2 A

BIREER  IBFEIRER LR

B HENB LN |6 6 v
10 gzzmmmonm LEb - -

HAEE | RiRE  XEE REE  XREE BB

&S i B | o R3EE  RAGE RSEE  REEE  RIEE

DKEEROH ST ERER IO

F BRSO > MM

ot e is . SEIE L B DA - . = ] iy
G 155 TIRORS - BE-RE HS it EAI R2EE  R3FE R4AEE RSHE  R6EE | RIEE

o | |EHoRE RERRREDT S 0 0 10
o 11 EISHISUETSER (R i3
= FyB R KEFIFROHE =) R2 D
R
15 | BERSWBROMME 4 0
) (Rat) H28~R2%R5t D
2l
s 5 HEE | RBE FEE ZEE XEE BERE
7}(&%.;@\*(}@ S EHER SR — = sz Y 18 FEAE =218 FEAE T=1E PR1E
T, i e &S et BUL | potere R3GE R4S RSEE  ROEE  RVEE
7oRE SRR HER D 375 450 3,077.3
” p— |77 mmEs m
SRR DB KT SRODHEEE R2 C
1q PREEBLORBOR 4 0
At DSEMEAL — BA=0ORME (RET) H28~R2REt D
(ERffie< 53] — UEHEDEHE % (RIEE)]
128 (R3) | 25 H (R4) [ 3% H (R5) | 4% H (R6) | 5% H (R7) SAGME (RIFE) —EAEE (GHERER) 000
A [20%BIE  |40%LIE  [60%LLE  [8096LLE  [1009LLE BiEE (RIEE) — EEE GTEE T ) °
B |aooei  |sovemi  |sooekm  |sovesiE |io0em K BEHEED IS S
YK YR YK %Ki %Ki XBAHIEEDES
C  |10%3K i 20% 3K il 30% 3K il 40% il 50% K jifi
D_[0%LLT 0% T [0%E T 0% [0%ELTF ERME(REE) ~BEE(RIEE) X 100%




